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wHE7) b

( )& Ani(

WD 2 IRFGFERERIT,
(1) 3x*2—7x—6=0 (2) 4x%+122+9=0
(3) x*43x—1=0 4) 3xx—2)=1

WD 2 WAEXEART,

(1) 2x2*—5x—3=0 2 x2—2x—2<0

WD 2 RAEXEART,

— x4+ 4x+1=<0

WD 2 RAERE RS,
1) (x=2)(x=5>0 @) (x+5)x+3)=<0

R OGN ARERZ RS,

22—4>0

B) (x+3)(x—3)<0 4 (x=3)x=0 12 —3x—4<0
(5) x2—x—2<0 6) x*—7x+12=0
(7)) x*+2x<0 8) x2>16

R OGN ARERZ RS,

{xz—3x+220
22—3x—10<0

WD 2 RAERERT,
(1) 3x2—7x+2=<0 (2) (x—6)(x—4)=25

WDORERE RS,

1) —2=<x2+4+3x=<4 2) 10<x®+3x=<2x+12

(3) x2<8x—16

4) x>(x+1)?
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2 KRR 22% + 2mx+1=0 BELSRE b O L &, EH m DEOFIAZ KD X,

WD 2 IRANERZ T T x 2T X TRD L,
1) 2x°4+x—6<0 2) 4x—2=>x2

WOLMEER -+ X 97, 8k m OO KD X,
1) 2B y=2mx’+x—1 DJ T 7RI x 8D FRNZH 5,

2) 2WAZENX 22 —mx+m+6>0 NEITHKD Lo,

BOEIPHOESD 25 THHEHTEOHEHE N
BROEN DB, —OROMUTHHNS, 100 Z|
FEEIN1lcm OEEFEEYVED, Sz
WHKORE D, MORHE dem® U E |
2 em? BT BlIcit, MEOES%E EDE S ZI

ZRHEPHIT LT L,




